Multiply by Positive Powers of Ten (G)

Find each product.

7.9 x 10% = 6.1742 x 10* =
0.3 x 10 = 223 x 10t =
6.56 X 103 = 6.002 x 102 =
9.2256 X 10% = 5.9 x 103 =

1.2 x 103 = 5.1 %103 =
52x 103 = 7.3 x10' =
3.234 x 103 = 6.592 x 10% =
2.5061 x 10° = 6.745 x 10% =
9.5 x 10* = 2.5 x 103 =
41734 x 103 = 48 x 10 =
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Multiply by Positive Powers of Ten (G) Answers

7.9 X 10* =790

0.3x10'=3

6.56 X 10° = 6,560

9.2256 x 10% = 922.56

1.2 X 10° = 1,200

5.2 X 10° = 5,200

3.234 x 10% = 3,234

2.5061 x 10° = 2,506.1

9.5 x 10 =95

41734 x 10° =4,173.4

Find each product.

6.1742 x 10' = 61.742

2.23 x 101 =223

6.002 x 10 = 600.2

5.9 X 10° = 5,900

5.1 X 10° = 5,100

7.3x10'=73

6.592 x 10%* = 659.2

6.745 X 10%> = 674.5

2.5 x 103 = 2,500

4.8 x 10' = 48
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